KT =

ETSHE—HF (BT +=%5ENIERR)
EANBSEERHTES
(B) 314818 () H#1243A31H
(841 : A)
BENE LEERB(A) B RE(B) IER(A)-(B)

I Teaszms 88, 152, 740 75, 620, 440 12,532, 300
|| 1R sz B NS 30, 000 30, 000
E | % |zothouns 0 0
2L |p—ezEenmzsst (1) 88, 182, 740 75, 620, 440 12, 562, 300
G 72,675, 894 67,231, 149 5, 444, 745
o] | FEE 8,138,872 7,382, 731 756, 141
| | BBS 6, 844, 366 6, 665, 241 179,125
=\ B A A 1,822,813 1,922,543 -99, 730
R | EEEms S SR T S AR -161, 784 -161, 784 0
o| |v-exEEEmst (2) 89, 320, 161 83, 039, 880 6, 280, 281
ap[—CAEBIERESE (3) = (1) — (2) 1,137, 421 —7,419, 440 6,282,019
2| | Z R SR SIS 11,088 43,723 32,635
55| 55| EOMOY LR EBIIMRES 1,366,414 700, 644 665, 770
o | P-EREBSMNGET (4) 1,377,502 744, 367 633, 135
%E ZOthDOY —CREEWIEE R 1,047,428 700, 644 346, 784
Al EssEmEEt (5) 1,047, 428 700, 644 346, 184
Bly—exassimmEsE (6) = (4) — (5) 330, 074 43,723 286, 351
BEERARE (7) = (3) + (6) —307, 347 =7.375, 7117 6, 568, 370
IR 4 — P XS RHEA DUV =170, 839 218, 894 389, 733
| [ RIIRasET (8) 170, 839 218, 894 389, 733
P EE e e e A ) 6 0 6
| g0 —EEX R 2B -170, 839 218, 894 -389, 733
ol "lHERIERst (9) 170, 833 218, 894 =389, 727
an BRIERELE (10) = (8) — (9) 6 0 -6
LHPEENEREL (11) = (7) + (10) ~307. 353 —7.375, 717 6, 568, 364
¢ EiE s EE R (12) 6,015, 382 7,816, 159 =1, 800, 777
= [UERARMEBNMEAEEE (13) = (11) + (12) 5,208, 029 440, 442 4,767,587
o [EASHEHZE (14) 0 0 0
2 [zothomET2EREREE (15) 3, 680, 000 6, 000, 000 =2, 320, 000
= [2OMthOIET SHEIEE (16) 0 0 0
s REBIGHESNERZEEE (17) = (13) + (14) + (15) — (16) 8, 888, 029 6, 440, 442 2. 447,587
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